uctions: All questions are compulsory,

———

The loss in a cable is usually defined in decibels per
umalattheboﬁmiugofa-

03dB7mhasapowerof2mW. What is the power of the si

-

Five channels, each with a 100-kkiz bandwidth, will
multiplexed together. What is the minimum m&’
link if there is a need for a guard band of 10 kHz &
chmnels to prevent interference? :

 assume that the length of the medium i is 2500 m

3

In the standard Ethernet with a mmnﬁn rate

the frame is 512 bytes. The propagation speed ¢
cable is 2 x 10* m/s. Find the transmission delay a

delay.

How does Baseband transmission differ

to successfully nndthemesmw

StauonAuedstosendamemgcoms
using a sliding window protocol with 4
 packets are immediately available for tran:
every 4th packet that Station A transmits is |
from Station B are lost). Determine;

(a) Howmmytotalpackmmllsm,m
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